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2L A 36.4 JtiEE 35.4 2,376 1,728 972 10] vay LL
LA T & 1.0 - 1,080 — 10
IZALA 12.5 JtiEE 11.8 1,296 972 864 10
IZALA f = 0.7 1,296 — 1,188 10 L
ZIES5 43 BIR 43 - 2214 — 0] A 2M
EXER 8.8 E % 8.7 2,592 2,592 1,836 15 A L
HTE 1.4 BER 0.4 3,240 — 3,024 4l A M
ZEDOH 5.3 BERE 2.8 2,376 2,160 1512 4f A M
Fry 575 B E 53.0 1,415 1,134 972 10 vay 8
TRy g - 108 - 0.02 A LL
IE5NAZES 1.2 = I 0.1 - 346 — 02 A L
= 49 JtiEE 42 3,726 3,402 3,240 5
Ch¥E 1.2 Z [ 0.5 5,184 2,268 2,160 3l A M
125 1.5 ElG 0.6 4,590 3,780 3,240 5] vay
L) — 0.4
FRINGHR 1.3 = B 0.2 — 130 — 0.1 L
LAX 20.5 E % 20.4 3,348 1,728 1,728 10 A 16
LA 12 [ 0.1 1,620 — 1,296 1 A M
FoTYA 0.9 BRE 0.5 — 3,240 — 4f A M
=p5Y 15.9 BERE 1.9 - 270 — 1 A
=S5l = I 7.1 2,808 2,376 2,160 5/ A M
NESSED) 45 BRE - - - PR
hFEL® T & 25 1,944 — 1,404 10 B LL
Al 6.3 BRE 0.8 — — - PR
Y = I 3.8 1,620 1,080 1,080 5, B L
d 18.4 X & 8.9 2,052 — 1,944 4 B 24
el N 6.9 2,376 2,160 1,944 4 vay M
=k 5.7 EES 3.0 270 259 238 02| vay M
Rl 4 X & 1.6 3,888 3,564 3,564 3 A M
E—<> 5.0 X & 2.8 109 86 86 0.15 A M
E—<> BRE 1.0 5,940 - 3,780 10
E53ACL 0.1
T35 0.7 BRE 0.7 97 81 81 0.1 A M
[2H5Y 1.4 BRE 0.9 1512 - 864 3l A M
SPVAITFA 0.2 =l 8,100 - 6,750 5/ ¢ M
MAL& 46 BRE 3.8 1,944 1,404 1,296 5/ A L
MALE BRE 1,836 1,404 1,296 5/ A M
[EhiLs 75 JtiEE 5.5 — 1,080 — 10
[ECTRYNS 5 2.0 — 1,080 - 10] vay M
IEhi s T & - 864 — 10 vay S
=L 0.3 BRE 0.2 3,240 - 1,296 5/ A
AL 0.1
=FhE 7.9 dtiEE 45 - 2,376 - 20 L
f=FhE JtiEE 1,296 — 1,080 10
f=Fh&E ik B 3.4 - 1,026 - 20 19 L
f=FEh&E B 2,160 1,944 1,836 10] vay M
IZAIZK 0.3 ol 0.2 — 378 — 1 4L
ELLV=T 1.1 BERE 0.1 — 119 — 01| M L
HELLV=IT =l 0.7 108 97 76 0.1 A L
ZDEET 48 E I 35 36 27 22 0.1 A
LHL 1.0 2 [ 1.0 97 65 65 0.2
ESES T 255.3
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BMAHMAEE 3.2
INGRH DA 25 BRE 1.3 - - - PR L
ING RHAPNA BERE - 2,700 - 5| 7hv1 M
ING RHEPNA BERE 2,376 — 2,160 5] 7hva S
INDRH A = B 1.1 2,700 — 1,620 5 L
INDRFH A T B - 2,700 — 5 M
INDRFH A T B - 2,700 — 5 S
LEY 2.2 F Y 0.7 7,344 6,264 5,400 17 115
INLULT 4.1 = M 4.1 — 3,888 — 17
L7y 0.3 m7r2Y 0.3 4,752 — 2,160 15 45
YATE 12.1
oY) 8.6 E % 7.2 6,480 5,184 5,184 10| V2 40
HA%ZLE 21.4
2k 18.3 2 [ 9.3 - 4,320 — 10 D 3L
Z+iEe 0.2 EES 0.2 - 7,128 — 10{ 7hv2 32
ZTDHMEL 2.8 = B 2.2 3,456 3,024 3,024 5| 7hva 12
3HET 3.4
3% 3.1 A 0.3 3,240 — 2,808 4 10
RO 0.3 & % 0.3 378 — 324 04| vay 3
FTHLE 0.1
ERS Ly Fd — 486 - 0.5
JIL—> 0.1 & % 0.1 410 — 378 04| vay LL
SESE 8.4
Bilg 3.0 2 [ 2.3 1512 1,382 1,296 120 A Wyl
EA—% 1.4 = I 0.7 - 1,620 — 2| 7hva 4
A)—A 0.2 2 [ 0.2 - 756 — 2l D 3L
A0 Et 1.1
7—ILR 0.6 E 5 0.3 - 4,320 - g 1% L
ZFDAOY 0.5 JtimE 0.5 — 6,480 — 8l van
FLHE 1.2
ERRY 1.2
INTF 12.2 EYEY 12.0 5,724 3,240 2,938 15
INMFyTIL 2.9 EYEY 2.8 3,780 2916 2916 10 6
FoL4)ILY 25 oty 2 25 6,156 - 4,050 75 4
REWET 75.9




